Chapter 8 Excel Output
[bookmark: _Hlk42879319]3d. Copy and paste the column of interest over into a new sheet. Next to the first two respondents, simply place a “0” next to each and nothing else. 
[image: ]
[bookmark: _Hlk42879340]Click the “Data” tab and the “Data Analysis” button we introduced you to in the last chapter. Then click the option “t-Test: Two Sample Assuming Unequal Variances”. For variable 1 range, enter the column range of the variable of interest, and for variable two simply enter the range for the two “0” we put in. For “Hypothesized Mean Difference” enter 15.2 and click ok. You may delete the extra column in the output. 
[image: ]
4c. 
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[bookmark: _Hlk42879708]5e. Use the steps from 3d to answer this question on the truncated sample of parnt2. 
[bookmark: _GoBack][image: ]
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t-Test: Two-Sample Assuming Unequal Variances

moral

Mean 17.60141509

Variance 6.96059595

Observations 1272

Hypothesized Mean Difference 15.2

df 1271

t Stat 32.46291985

P(T<=t) one-tail 3.6451E-169

t Critical one-tail 1.646053381

P(T<=t) two-tail 7.2903E-169

t Critical two-tail 1.961832193
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7% parnt2

Mean 6.505618

Standard Error 0.160696

Median 7

Mode 8

Standard Deviation 1.516002

Sample Variance 2.298264

Kurtosis -1.10825

Skewness -0.51143

Range 5

Minimum 3

Maximum 8

Sum 579

Count 89
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t-Test: Two-Sample Assuming Unequal Variances

7% parnt2

Mean 6.505618

Variance 2.298264

Observations 89

Hypothesized Mean Difference 38

df 88

t Stat -195.987

P(T<=t) one-tail 2.7E-118

t Critical one-tail 1.662354

P(T<=t) two-tail 5.3E-118

t Critical two-tail 1.98729


